SKU CODE : WF313034AAG/WF313035AAG
WF313036AAG/WF313037AAG

This set is included 2 boxes if don't receive full 2boxes
please contact our customer service team

Dieses Set wird in 2 Schachteln geliefert. Wenn Sie nicht ein
komplettes Set von 2 Boxen erhalten, kontaktieren Sie bitte
unseren Kundenservice.

Ce set est livré en 2 boites. Si vous ne recevez pas un jeu complet
de 2 boites, veuillez contacter notre service clientéle.




’
4

’
1

\
\

N\,
\,

. * Springen Sie NICHT auf das Produkt oder eines seiner Teile.

IMPORTANT FOR GAS LIFT BEDS&MAINTAINCE

Please place the mattress on top of the bed frame.

Please do not pull on the strap handles.

Please press heavily to release the compressed gas.
* Periodically check all screw & fixings to ensure they are secure.
When moving your product, carefully lift into place.

* Wipe clean with a slightly damp cloth- please do not use abrasive chemicals or bleach.
Do NOT allow children to operate the lift mechanism.

Do NOT allow children near the lift base when operating the mechanism.

Do NOT stand inside the bed or the internal storage base.

Do NOT overload the internal storage base.
DO NOT jump on the product or any of its parts.

_____________________

WICHTIG FUR GASLIFT-BETTEN&WARTUNG

=~

Bitte legen Sie die Matratze oben auf den Bettrahmen.

Bitte ziehen Sie nicht an den Gurtgriffen.

Bitte driicken Sie kraftig, um das komprimierte Gas freizusetzen.
» Uberpriifen Sie regelmaRig alle Schrauben und Befestigungen, um sicherzustellen, dass sie sicher sind.

* Wenn Sie Ihr Produkt bewegen, heben Sie es vorsichtig an seinen Platz.

* Mit einem leicht feuchten Tuch abwischen - bitte keine scheuernden Chemikalien oder Bleichmittel
verwenden.

* Erlauben Sie Kindern NICHT, den Hebemechanismus zu bedienen.

* Lassen Sie Kinder NICHT in die Nahe des Liftsockels, wenn Sie den Mechanismus bedienen.

* Stellen Sie sich NICHT in das Bett oder in die Innenablage.

* Uberlasten Sie den internen Liftsockel NICHT.

~.

Francais

-
R

7’
* Veuillez placer le matelas sur le dessus du cadre de lit.
* Ne tirez pas sur les poignées de la sangle.
* Appuyez fortement pour libérer le gaz comprimé.

\\\
~

Vérifiez régulierement que toutes les vis et fixations sont bien en place.

Lorsque vous déplacez votre produit, soulevez-le avec précaution pour le mettre en place.

Nettoyez avec un chiffon légérement humide - n'utilisez pas de produits chimiques abrasifs ou d'eau de Javel.
Ne laissez pas les enfants utiliser le mécanisme de levage.

Ne laissez pas les enfants s'approcher de la base de levage lorsqu'ils actionnent le mécanisme.

Ne vous tenez PAS a l'intérieur du lit ou de la base de stockage interne.

Ne surchargez pas la base de stockage interne.
Ne pas sauter sur le produit ou l'une de ses parties.




IMPORTANTE PER | LETTI CON SOLLEVAMENTO A GAS E LA MANUTENZIONE

o B B B B
P

N -

-
4

~,

* Posizionare il materasso sopra la struttura del letto.

* Non tirare le maniglie della cinghia.

* Premere con forza per rilasciare il gas compresso.

* Controllare periodicamente tutte le viti e i fissaggi per assicurarsi che siano saldi.

* Quando si sposta il prodotto, sollevarlo con cautela.

* Pulire con un panno leggermente umido, senza usare prodotti chimici abrasivi o candeggina.

* NON permettere ai bambini di azionare il meccanismo di sollevamento.

* NON permettere ai bambini di avvicinarsi alla base di sollevamento quando si aziona il meccanismo.
* NON sostare all'interno del letto o della base di contenimento interna.

-~ -~

* NON sovraccaricare la base di contenimento interna.
\. * NON saltare sul prodotto o sulle sue parti.

~
S

N e e e e e e e o e e e

IMPORTANTE PARA LAS CAMAS ELEVADORAS DE GAS&MANTENIMIENTO

’
7

4
7 = Coloque el colchon sobre el somier.

~,

* No tire de las asas de la correa.

* Presione con fuerza para liberar el gas comprimido.

* Compruebe periodicamente que todos los tornillos y fijaciones estén bien sujetos.

» Al mover el producto, levéntelo con cuidado para colocarlo en su sitio.

* Limpie con un pafio ligeramente humedecido; no utilice productos qui micos abrasivos ni lejia.
* NO permita que los niflos accionen el mecanismo de elevacion.

* NO permita que los nifios se acerquen a la base elevadora cuando accionen el mecanismo.

* NO se ponga de pie dentro de la cama o de la base de almacenamiento interna.

* NO sobrecargue el somier.

— ~

\ NO salte sobre el producto ni sobre ninguna de sus piezas.

_________________________________________________________________________________________________________________




Page 4/17




WF313034AAG/WF313036AAG

\

l]

Q

WF313035AAG/WF313037AAG

(3)x1

Nut

Hardware-Liste-Liste du mat ériel \WF313034AAG/WF313036AAG

A x 60 Bx6 Cx18 D x 4 Ex5
(m () (e | (o |
M8X18 M8X30 M8X 40 M8X 55 M8X 65
F x1 G X1 H X 4 I X 1
— N\ s
— - Qx

Page 5/17




Schritt 1




Schritt 2

6

M8X18

Page 7/17




SChI’ |-t-t 3

(mm

M8X18

()

M8X40

Page 8/17




Schritt 4

C x2

(o I
M8X40

A x4
4)m

M8X18

Page 9/17




Schritt 5

AX6

S

M8X18

Page 10/17




. Install screws loosely,
SChI" 1tt 6 don't fully tighten

Bx4

() D
M8X30

Ex4

(o IO
M8X65

Page 11/17




Schritt 7

M8X30

Page 1 2/17




Schritt 8

Page 13/17




Schritt 9

E x1

() D
M8X 65

O
M8X18 M8X 55

Page 14/17




AXx4

(m

M8X18

Page 15/17




Schritt 11

Page 16/17




Schritt 12

'11Ohne Stecker

' 11Plug not included

1 llLa fiche n'est pas incluse !

1 . ']

i IlLa spina non € inclusa !

' 'Enchufe no incluido .
1

Page 17/17

N e e e e e e e e e e e e e e e e e o e = =




NOTE: The battery in the remote control requires you to purchase and install it yourself.

GB - Model: CR2025 3/ AR .

DE - HINWEIS: Die Batterie in der Fernbedienung miissen Sie selbst kaufen und installieren
Modell: CR2025 3.V

FR - REMARQUE : la Eile de la télécommande doit étre achetée et installée par vos soins.
Modéle : CR2025 3.V

IT - NOTA: |a batteria del telecomando deve essere acquistata e installata autonomamente.
Modello: CR2025 3.V

ES - NOTA: La pila del mando a distancia debe comprarla e instalarla usted mismo
Modelo CR2025 3.V

©) ¢)

Modell : CR2025 3.V




L]
4 1 T 1
}9 «»" PRECISE TESTING

CERTIFICATE OF CONFORMITY

No.: PTC230428022015-LDD

Applicant - Dongguan STTEAM Technology Go.,Ltd

Address . No.BO5, Diwang Square, Chang'an Town, Dengguan City,China

Manufacturer -  Aamen JH Smart Furniture Technology Co. Ltd

Address i MHo.4B87-489 Wuxing Road Xiang'an Distric, Xiamen,China.

Trade Mark i MNA

Product : RGB LED Controller

Rating © pes-iav, 1A; 3-12W: Class llly

Model No. :  SBTHMLETATKRF-USBCT-RGB-B150,Details see model list on page
2

The submitted sample of the above equipment has been tested and found to comply with the
following Eurapean Directive:

Low Vaoltage Directive - 20147 35EU
The standard(s) used for showing compliance with the essential requirements:

Applicable Standard(s) Test Reportis) Number
N B1347-1:2015
Fn 61347-2-11: 2004 PTC230428022015-L D01

This cenificate is part of the full test repor(s) and should be read in conjunction with it. This
cartificate is based on an evaluation of one sample of above mentioned product. It does not
imply azsassment of the production of the product, Withoul the written approval of Precisa
Testing & Cerdification (Guangdong) Co.Lid., this cedificate is not parmitied o be reproduced,
exoapl in full, I & not permitted (o sadee ab's logo. The CE marking may only be used if

Jacky Ou
Manager
Date: May 15, 2023

Q)‘ Preclae Testing & Certification {Guangdong} Co., Lid.
Building 1, Mo &, Tongxin Road, Dongchang Strest,

Dongguan, Guangdong, China
Tel: BB 769 JRE0E222 Web www.ple-lesiing.com
F Mall: inguiry@pic-testing.com
. AP)




R £ S
gﬂp“i “mimm 4 %{
d_}‘ | F(b

VERIFICATION OF CONFORMITY

No.: PTC230428022015-LD01

Covering type:
STH1.5T-1TKRF-USBCT-RGB-xxxx

Pracise Testing & Certification (Guangdong]} Ce., Lid.
Building 1, Ho.6, Tongxin Road, Dongchang Street,
Dongguan, Guangdong, China

Tel: B6 763 38608222 Webiwww ple-testing.com
Mail: inquiry@ptc-testing. com

SO




I

@ wmnn

7) e =
lJ SLG-CPC Testlaboratory

SLG-CPC Testlaboratory Co., Ltd.

VERIFICATION OF CONFORMITY

No.: 24050296C-C
This verification is issued for

GUANG TAI ENTERPRISE CO., LTD

Rm 402, Bldg 4.No.2 Dapianmei Rd., Dapianmei Village, Dalingshan DONGGUAN, Guangdong
Sheng CN

The product with designation of type

Furniture Power Distribution Unit

Trade Mark: /
Model/s: JN02-00-21; JNOO-00-04KM; JNOO-00-02K; JNOO-00-02KM; JNOO-00-03KM; JN02-00-23K;
JNO00-00-04; JN0O2-00-23; JNO2-00-22M; JNO2-00-23M; JN0OO0-00-04K; JNO0-00-03K; JNO2-00-23KM;
JN02-00-22; JN02-00-24K; JN02-00-24; JN02-00-24M; JN02-00-24KM

This is to declare that the technical file of the products complies the essential requirements of below
European Directives:

EMC Directive 2014/30/EU
Reference standards:

EN IEC 55014-1:2021
EN IEC 55014-2:2021
EN IEC 61000-3-2:2019+A1:2021
EN 61000-3-3:2013/A2:2021/AC:2022-01

This verification is based on the following file

90340-24-71-24-PP002

and is valid only if the product is manufactured in accordance with the corresponding tested sample.
This verification is the result of tests carried out on one sample and does not represent the serial
production of this product.

The CE mark as shown can be used, under the responsibility of the manufacturer, after completion of
an EC Declaration of Conformity and compliance with all relevant EC Directives.

This verification of conformity loses its validity in the following cases:
if the reference standards and/or EC Directives are modified;
if any modifications are made to the model/s without our approval.

Jason Gao

Lab Manager
No.11, Wusong Road, Tel: 86-769-22607797
Dongcheng Subdistrict, Dongguan, Fax: B6-769-22607907

Guangdong, China hitp:/fwww.cpcteam.com




© zonuk

Z
'/ SLG-CPC Testlaboratory

SLG-CPC Testlaboratory Dongguan Co., Ltd.

VERIFICATION OF CONFORMITY

No.: 24050295C-C

This verification is issued for

GUANG TAI ENTERPRISE COLTD

Rm 402, Bldg 4, No.2 Dapianmei Rd., Dapianmei Village, Dalingshan, DONGGUAN, Guangdong,
China

The product with designation of type
Furniture Power Distribution Unit
Trade Mark: N/A
Model/s: JN00-00-02K; JN00-00-02KM; JN00-00-03K; JN00-00-03KM; JN00-00-04; JN0O0-00-04K;
JNO00-00-04KM; JN02-00-21; JNO2-00-22; JN02-00-22M; JN02-00-23; JN02-00-23K; JNO2-
00-23M; JN02-00-23KM; JN02-00-24K; JN02-00-24; JN02-00-24M; JN02-00-24KM

This is to declare that the technical file of the products complies the essential requirements of below
European Directives:

Low Voltage Directive 2014/35/EU;
Reference standards:

IEC 60884-2-7:2011+ AMD1:2013
IEC 60884-1:2002 + AMD1:2006
IEC 62368-1:2018 (EN IEC 62368-1:2020 + A11:2020)

This verification is based on the following file
90340-24-70-24-PP001
And is valid only if the product is manufactured in accordance with the corresponding tested sample.
This verification is the result of tests carried out on one sample and does not represent the serial

production of this product.

The CE mark as show can be used, under the responsibility of the manufacturer, after completion of an
EC Declaration of Conformity and compliance with all relevant EC Directives.

This verification of conformity loses its validity in the following cases:
if the reference standards and/or EC Directives are modified;
if any modifications are made to the model/s without our approval.

Owen Zhan
Technical Director

MNo. 11, Wu Song Road, Tel: 86-769-22607797
Dongcheng Subdistrict, Fax: B6-769-22607907
Dongguan, Guangdong China http:/fwww.cpcteam.com




